Political Science
Paper 1I

SN

gyufsreRt 11
Time Allowed : 75 Minutes] [Maximum Marks : 100
Note : This paper contains Fifty (50) multiple choice questions, each carrying
Two (2) marks. Attempt All of them.

AT ¢ A TR HE TR TR (50) SgUERE 9 fooil SR s YeAel @ (2)

0 . W e dre.

For achieving the ideal state, Plato
puts Political Power in the hands

of :

(A) Philosopher
(B) Citizens
(C) Guardians
(D) Plebeians

Aristotle’s idea of perfect friendship

is based on the principle of :
(A) Utility

(B) Pleasure

(C) Status

(D) Intrinsic worth

1.

ARY TS HIhHRUITETS BITATAU R

-~

IO Baid &l
gfeaar ?
(A) d<Eal

TSR Hxl <5

(B) =i
(C) dTedeh
(D) THEESH

Afreeiea=it uftqel A= weum

TEeTdeh! IV dwaler SR TR ?
(A) 3JTFeHId

(B) 9@

(C) it

(D) TaRe oo
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Who among the following suggested

the idea of absolute state ?
(A) Rousseau

(B) John Locke

(C) Thomas Hobbes

(D) Voltaire

T.H. Green’s idea of state is based

on :
(A) Community of communities
(B) Legal institutions

(C) Bureaucratic institutions
(D) Military establishment

Marx’s theory of surplus value is

influenced by :
(A) Adam Smith
(B) Ricardo

(C) Bentham

(D) James Mill

4.

ETeteAdeh] kvl fea=merd

Tl hed l wisalt ?
(A) &9

(B) w4 <k

(C) MY ®lss

(D) dfeX

3. T, W TSI heuql Eeiieldeh]

IO FEheR MR 3 ?

(A) TR WM
(B) =9 Geeq
(C) -rehiemmer Heer

(D) TSh{ STEATIT

GTcATeTdeh! ShiIvredl Toaamadran A=

sifafed gearen fagidaeR gvwe geen
e ?

(A) 3feq fory
(B) fmrel
(C) w=efd
(D) S o

v StudentBounty.com


http://www.studentbounty.com/
http://studentbounty.com/

Equality of capability is associated

with :

(A) G.A. Cohen
(B) David Miller
(C) Michal Walzer
(D) Amartya Sen

Robert Nozick’s theory of justice is

about :

(A) Entitlement
(B) Distribution
(C) Retribution
(D) Recognition

In Aurobindo’s thought,

Sachchidananda means :
(A) Supreme Reality
(B) Greatest Happiness
(C) A Yogic Cult

(D) One who has fluctuating

consciousness

7.

ETATAdh! HIval faaed  aTHa=a

gaHdan fagia gfquredar 2
(A) ST T e

(B) efws fHer

(C) Hrshdl deg

(D) e |

e Aifereh == = fagia sHymfasen
AR ?

(A) YRR
(B) foaawo
(C) wfasny

(D) =

o o

sRfa<r=a foane ‘wfsaemer’ =1 g9y

GTeTeTdeh! STV SSHTRN Sfeoctl S 2
(A) Har=a ¥
(B) waifs g@

(©) i fasg

(D) 37fEeR STufa=t ek
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10.

11.

Ahimsa in Gandhi’s thought is

associated with :

(A) Non-injury

(B) Non-destruction of life

(C) Positive love for human beings

(D) Non-annihilation of Human

being

Equality, Liberty and Fraternity in
Ambedkar found their first public
expression in one of the following

movements :

(A) Chavdar Tank
(B) Kalaram Temple
(C) Parvati Temple
(D) Ambabai Temple

Which among the following pairs is

correctly matched ?
I n

(A) S. Finer — ‘The man on Horseback’

(B) E. Nordlinger — ‘Coups and Army Rule

in Africa’

(C) S. Decalo — ‘Soldiers in Politics’

(D) A. Perlmutter — ‘The Barrel of a Gun’

10.

11.

(A) ST A &

(B) Sham=l & A &)

(C) TR 99

N e ¢

(D) AR FHe 7 &

AeeHT= foardiel 9y, @aa 9
FYAr AT dF e afgen WreSe
IR WelcTdesh! v dddeid

el ?

(A) IR T8 TR

(B) HIoRH HieX TR

(C) vafd Hfex Tmre

(D) 3forers Ay TEnE

GeATAUsh! IO SIS ST T8 ?

I 1I
A TH HET - 'R W o SR
B) 3 FEfAR - ‘oW sfe ond w3
o —
C) tH fewen — ‘Hioo™ 3 difafe’
(D) T JAAXR - 'k d@ #® 7
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12.

13.

In subject political culture people
avoid political participation

because :

(A) They are ignorant about the

political institutions.

(B) They are denied political

participation.

(C) Either they fear the
consequences of participation or

find it ineffective.
(D) They hate politics.
Co-operative federalism presumes :

(A) Interdependence of national

and regional governments

(B) Cooperative groups in a federal

polity

(C) Interaction between various

sectors of the economy

(D) Working of regional
governments through
corporations

12.

13.

STRATThd USTeh 1T UEhATHE T Tsioh

HEHIT dlosdld hXIT ¢

(A) T ATISIT Nadraa=ar USih 13

(B) <ITAT USRI =1 Heh

AhRCTel 379

(C) 1 FeurTr=an aRomar=t ofidt 19
foren = 1 aRomHeRT BE e
qred el

(D) TSTRIOMEEA AT or 3T

Teh i ERSAT WTelTcTdeh! hIvTdl
a9 Tfed el Sd ?

(a)

(A) e 9 Tk GhRE WO o

(B) T=RY HIddl ekl T

(C) srefegaeddia fafay wesmiasid
IR

(D) 9TefeTeh Ees IMEATTH YT

HEHEH HRAR TE0
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14.

15.

Retrospective voting means :

(A) Casting one’s ballot to express
party-loyalty

(B) Casting vote for the candidate

out of personal loyalty

(C) Casting vote in response to

government performance

(D) Casting vote for the promises

made in the election manifestos

The elite theory of democracy

argues :

(A) That the elite are always on the

margins of society.

(B) That there are a few who rule

the many.

(C) Minority and majority go

together in a democracy.

(D) That the elite are an ineffective

minority.

15.

(A) T&IY SfeTehl Uod  hIvATETS!

feoiar 7@

o o

(B) SHSINYA 3THcicl Jaferdess el

o [

ofotd  h{UYIHIS] |

Aol Ha.

oo [N

(C) Tl wMAR urgd feored wa.

(D) Froreuesh SRRAMRIA  SATTSTEHT

gfdare wuH footel .

[ [aV

ST i=aT

ATH IR srfvsaret

.
-
-

(A) 3TfYsH oFf & AgHi= gHTSIT=A

TEER 3T

(B) TRl ISR cilehd Tod ShRHR M.

(C) TNHhTMEHEN AIHEd o agHE

~

[Hogd enlH  ehidid.

(D) AfYSH =1 & a9 sl
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16. Which one of the following can be

described as Caucus Party ?
(A) Conservative Party
(B) Communist Party
(C) Social Democratic Party
(D) Green Party

17. Interest groups seek to :

(A) Keep their sectional interests

aside.

(B) Reject lobbying with the

government.

(C) Make policies on behalf of

government.

(D) Influence governmental policy.

18. Who among the following focused on

the issue of political decay while

16.

17.

18.

TITCTeTdsh! IV Tefiell ‘hichd drel’
U AgA 2

(A) B 9«

(B) Hr=EEl ue

(C) Hrre SHishfesh dret

(D) Ba 9«

fedgeielt e Welicideh! ShIOIAT T hie

e ?

(A) O STUUe e feqgay drs[en

HIdrd

(B) O T{ahNeR T hUI TehR <drd

(C) 9 T adiH &R0l 3adrd

(D) 9 G UROMeR 9 2ehdid

sty TRt gferar fage wam

EeicTUeh] ShIOCAT STYATHRT  JSTeh 1

explaining modernization ? BTl YYATET Tl shell g ?
(A) Walt W. Rustow (A) dfe T, T
(B) A.F.K. Organski (B) T ThH . AL
(C) Samuel P. Huntington (C) F=qua . Ffeven
(D) C.E. Black D) . % =%
[P.T.O.
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19. Who authored ‘The Politics of
Developing Areas’ (1960) ?

(A) Gabriel Almond and James

Coleman

(B) Gabriel Almond and Sidney

Verba

(C) Seymour Martin Lipset

(D) Gabriel Almond

20. Andre Gunder Frank is associated
with :
(A) Corporatist Approach
(B) Institutionalism
(C) State-Society Approach
(D) Dependency Theory

21. Gandhi-Ambedkar pact was

primarily related to :

(A) Political representation of

untouchable community

(B) Upliftment of untouchable

community

(C) Eradication of untouchability

(D) Annihilation of caste

20.

21.

(1960) & &I TIcicrdsh! hIvTcl

sl fafed o ?

(A) T THE ST P i
(B) faretar sme enfor faeHt e
(C) far =if&q fade

(D) TifsTa sTve

33, T[EX Theh AT A9 WelieTish! hIvTe
fagiart Seat T R ?

(A) wnRfee fas

(B) TEIEE

n o N

(C) TSI-THShG! GIeeh

(D) Wadfearn faga

TMef-SAEaEH HIR TIeaTdsh! TEId:

HIMaSA B ?

(A) 39T GHNTA TStehid gfaffee
(B) 39 HHTET 3ER

(C) r&ggaar ey

(D) Sufdfeer
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22. When the Constitution of India came

into force in 1950, the Constituent

Assembly became :
(A) the Judicial Authority of India

(B) the provisional parliament of

India

(C) the guardian of the Indian

State

(D) an advisory body to the

Government of India

23. ‘To uphold and protect the
sovereignty, unity and integrity of

India’is @.ceeeeveeneeennnnnn. .

(A) Fundamental Right

(B) Directive principle of State

Policy

(C) Fundamental duty

(D) Part of the Preamble

22.

23.

(A) YAt ~=faes 9

(B) YRAT=N & 99

(C) YR TSIEEd= relsh

(D) YRd THIE HoAlR HEwd

* T W, Ve F TR

(A) HAYd 3THERR

(B) TSI #ROTe ANIGSieh a<d

(C) qad whaeA

(D) SEFMART 9M

[P.T.O.

v StudentBounty.com


http://www.studentbounty.com/
http://studentbounty.com/

24. Which one of the following subjects | 24. wefierdsht vl fasa 99 {Lqﬁqt'a

is found in the Union List ? 3 ?

(A) Post and Telegraphs (A) 291 9 dR ®@Md
(B) Local Government (B) Ternfaer ImEA
(C) Prisons (C) T

(D) Fisheries (D) HEEN

25. The BJP has never come to power 95 U TYST STT FHHE TR STl

in :

T ?

(A) Punjab, Rajasthan, Gujarat and
(A) TSTE, USEAF, TIA AT

Maharashtra.
HIS
(B) Maharashtra, Karnataka,
Tamil Nadu and Andhra (B) HERTSZ, HAich, dﬁ-loovusc\ arrfor
Pradesh. Ty TR

(C) Maharashtra, M.P., Gujarat
(C) HeNTsZ, " Yo, T[SRd S

and Andhra Pradesh.
Y YT
(D) Tamil Nadu, Kerala, Andhra

Pradesh and West Bengal. (D) TAHEE, H¥e, Y FoH, |. S

10
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26. Which of the following is a

27.

movement not opposed to the
dominant model of development ?

(A) MKSS

(B) NBA

(C) Kisan Panchayat
(D) Eklavya

Match List I with List IT and choose
the correct answer from the code
given below :

List I List II

Paul Brass (1) Government and

(@)
Politics of India

(6) Rudolph and (2) India’s Political

Rudolph Economy

(¢) Francine Frankel (3) In Pursuit
of Lakshmi

(d) W.H. Moris Jones (4) The Politics of
India since
Independence

Codes :

a b c d

(A) 4 3 2 1

(B) 1 2 3 4

C) 4 2 1 3

D) 2 1 3 4

26.

27.

ETATAdh! HITAI TBes TIhTaT=A1
TNt g fohiame | ?

(A) TH..TH.TH.
(B) TH.SI.T.
(C) fwam v=mrd

(D) TehetA

I I S A I At A Sie
Jezall I Tielial Fehagaiqd ard IW
IEEEIEE:

RGN | Tt 11
(@) W S (1) Tetie e e
#fw sfean
(b) Tlch 9 Telch (2) Ifeam ufadiena
EEaRIL
(c) e Haa (8) T WHE ATh AsHl
(d) 9. T, " (4) < dffadsm Aw
S| e fag sfetrew
Hehd :
a b c d
A 4 3 2 1
B) 1 2 3 4
© 4 2 1 3

D) 2 1 3 4

11
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28.

29.

30.

The target group of the National

Food for Work programme are :
(A) street vendors

(B) urban poor

(C) rural poor

(D) educated unemployed

The Mandal Commission Report is

about :

(A) SCs

(B) STs

(C) OBCs
(D) Minorities

How many Lok Sabha elections have
been held after the death of Mrs.
Indira Gandhi ?

(A) 6
B) 7
(C) 8

D) 9

29.

30.

(B) =8 W
(C) T T

(D) Tofara SRR

Teol AN ST8aTed ShIlded 3T ?

(A) gfad St
(B) gfad StHwt

(C) TR HAMY o

(D) ITFHA TRHE

St sfeu = AR dhgs=a

o [al o

fhdl fereueht oo 3ed ?

(A) 6

B) 7

(C) 8

D) 9

12
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31. Woodrow Wilson advocated :

(A) Politics—Public Administration

unity

(B) Politics—Public Administration

dichotomy

(C) Precedence of Public

Administration over politics

(D) Policy formulation by

administration

32. ‘Span of control’ is increasing during

recent years due to :

(A) Education

(B) Higher pay scales

(C) Increasing use of automation

(D) Unionism

31. I oIoET Teliciish! HIME JERR

e ?

(A) USTHRUT—EATHIIMET Tehed

(B) USTohRUI— AR g

(C) ATRHYITHAT R ISEARRUIERREY!

T

(D) YRTMEAMIhT  SROTHd

32. U e qEia wRUTHs sTellsherd

hlcdld Leac 3TE

(A) Terero

(B) derd aad

(C) TfAhihIuma aTed THTI

(D) TeEATHRd

13
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33. Which of the following is not the o 8 o~ o P SN
33. JelcTYehl <h[UTd Ueh HIASI[Hh HalHS 2l
chief characteristic of Public
Corporations ? ST ATEr ?
(A) Annual appropriations from the . .
(A) DIYFRMETRT E= Jfte TS
Treasury
(B) Freedom from Parliamentary (B) Gg==m tT\IOh?ﬁqléﬁ T
enquiry
(C) Self-contained finance (C) el Toraqufen
(D) Fixed term of Chairman/ PR .
(D) ALF/FHEIET TTREd  hrdhlc]
Members
34. One of the features of Line-Item | 3% " -STAH ' STATRTe T AR
budgeting is : TS
(A) Clarity of purpose (A) Sfesersl T
(B) Clarity of income (B) Scq=Tell TS
(C) Accountability (C) I
(D) Expenditure bias (D) fafmresdt
35. The system adopted in the United | 35. sTafthdic I Sdh=a1 IIHIOM=AT
States for classifying civil servants e YEeH TE TRUA
is known as :
(A) 2roft affeRTor
(A) Rank classification
o . . (B) UG IR
(B) Position classification
(C) Rigid classification ©) =
(D) Flexible classification D) T S
14

v StudentBounty.com


http://www.studentbounty.com/
http://studentbounty.com/

36. Ministry of External Affairs is

organised on the principle of :
(A) Area or place

(B) Function

(C) Purpose

(D) Persons

36.

R IER HAAA Toe Jaietueh]

T TETER o TR :

(A) &= fRar s
(B) &&

(C) &g
(D) el

37. Which of the following is a Central | 37  ydietiient ot Yan YRaw ‘Se Far’
.. o . X
Service in India * e sheEe W 2
(A) Indian Administrative Service n L .
(A) sfeaq Temeice Hiwd
(B) Indian Police Service
(B) sfeem Wifer dfgd
(C) Indian Forest Service
C) sfes wRe wfkd
(D) Indian Audit and Accounts ©)
Service (D) sfezm sfee ofe orhEew dfwq
38. Panchayati Raj Institutions have | 38 v=gg Tsar=t fafddt l\-l)G'\IQ"I‘\}IOh'\I Tehl
been organized on the basis of : MY’ el e ?
(A) Delegation (A) YRR ISH
(B) Decentralization (B) farehsiertm
(C) Centralization (C) HETHI
(D) Integration (D) THTHTHT
15 [P.T.O.
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39. Which of the following correctly L. . . .
39. Wreitel Heheure fAfHd= ST =
depicts the chronological order in
which the concepts appeared ? AT dl HICIshH hIOAT ?
(A) Scientific Management—New -
(A) TN FILTT—d A IR —
Public Administration—Good
Governance Y-IMHTHAEN
(B) New Public Administration—
(B) -9 SR YR — ST Haea—
Scientific Management—Good
Governance H-IMHTAIEN
C) Scientific M t—Good
(C) Scientific Managemen 00 (C) VTSI AT — G- UMHAH TR —
Governance—New  Public
Administration T ATRYTE
(D) New Public Administration— D) T cdxlohH‘\’llHd—'EI,—QllHﬂobldsli—
Good Governance—Scientific
Management T ST
40. Indian counterpart of ‘Ombudsman’ | 40. ‘aTq\ng-—[’ T YA AfThR =S
is :
(A) Wi
(A) The Advocate General
(B) SR UTc /AR
(B) Lokpal/Lokayukta
(C) Central Vigilance Commission (C) s Tl ST
(D) Human Rights Commission (D) HFE SR AN
16
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41. Neoliberal approach to . o . -
41. SATAWTSET A=A TaSeRATATE!
International Relations argues
that :
: A) TH-TSAHE Foe 30 TR
(A) conflict among states is (A) <
inevitable 3e.
(B) international institutions (B) WWW_W%ﬂE
promote co-operation among TRFTI =TT T
states
(C) Al @WwE § sl Howie
(C) human nature is the cause of
HROT 3T
conflict among states
(D) balance of power promotes (D) F AL T Fehrai
co-operation among states e e
42. The foundation of democratic peace | 42. THIMEST IMAd=AT FLATATAT AT
proposition was first laid by : | = e I e
(A) Emmanuel Kant (A) THFTE Fiz
(B) Hugo Grotius B) 7T AE
(C) Machiavelli
(C) Hiharaeit
(D) Rousseau
(D) =&
17 [P.T.O.

v StudentBounty.com


http://www.studentbounty.com/
http://studentbounty.com/

43. The natural elements of power does

not include :
(A) Population and Topography
(B) Climate and Resources

(C) Political Structure and

Leadership
(D) Location and Size

44. The sovereign territorial state

system was established by :

(A) The Treaty of Versailles

(B) The Peace Treaty of Westphalia
(C) Paris Peace Treaty

(D) San Francisco Conference

45. Which of the following are included
in the international non-

proliferation regime ?
(A) NPT, IAEA, NSG
(B) NPT, SALT, INF Treaty
(C) NPT, TAEA, INF Treaty

(D) NPT, SALT, Baruch Plan

(C) TSR FL=d 3o g

(D) TH MU SATHRAN

44, T S TeEeerEy g

(A) =EF=T T@

(B) S=wIfei = IMddl ik
(C) YRE wndd =R
(D) ¥ IHRaEhl TieR

45. AT I SRS STUSRATIRE]
fom STaedms] quew e ?

(A) TAWE., AETIT, TA.TE. S
(B) TA.UL.3., Hice, ™ TATH. R

(C) TAWA., AFMTIT., I.TH.Th.
TR

(D) TAYL.E., Hice, d%d ISl

18
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46.

47.

The World Trade Organization, at
its 4th Ministerial Conference at
Doha in November 2001 brought in
new areas of negotiations as part of
its Doha Development Agenda. One
of these is called NAMA. What does

it stand for ?

(A) Negotiable Agricultural Market

Access

(B) Non-Agricultural Market Access

(C) Nature-Cure and Medical

Access

(D) Non-Agricultural and Minerals

Access

Which of the following is not a cause

of the end of the Cold War ?

(A) collapse of communist regimes

in Eastern Europe

(B) disintegration of Yugoslavia

(C) signing of the INF Treaty

(D) disintegration of the Soviet

Union

46.

47.

STTfceh SATIR Tee=AT Aiegsk 2001 AL

Teft el AREeH Srel fashm sy

AN WA e fos@r=n arersndae

THEYT hell. el Uehrd A’ 3/

o A 1| M= S e 2

(A) TfyTEse Afrsheeie Arhe T g

(B) S-3Tfirshoelal Hhe 3Ta0Y
(C) TR-F3R 3fc Hfeha i

(D) FF-AfIheera 3fve ey iy

EeieTdeh] IV IAgSTAT ST R

@ ?

(A) 99 JUUA HRIAE TSEe T

N o

(B) Frirsenfaara foereq

(C) STAL.TA.TH. HAUAT Tl

(D) difaua guma faeeq

19
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48.

49.

50.

Which of the following countries are

members of SAARC ?

(A) India, Pakistan, Afghanistan
(B) India, Myanmar, Sri Lanka

(C) India, Iran, Maldives

(D) India, Bangladesh, Myanmar

India-Brazil-South Africa (IBSA)

group is :
(A) a trade bloc
(B) an economic alliance

(C) a political pact of

underdeveloped countries

(D) diplomatic co-operation of rising

middle powers
China is not a member of :
(A) ARF
(B) SCO
(C) SAARC

(D) APEC

48.

49.

50.

GTATAdh] IV S Hhd TUES

Aed ?

(A) 9Rd, difeh&d™, SR

(B) ¥R, WFUR, sitcient

(C) ¥Rd, O, HAdH

(D) YRd, SRS, RIFUR

ORA-snfee-gfaor 3nfeat (IBSA) 7@

L

(A) MR T

(B) sffees H

(C) faehifd QRMHHT TSI HI

(D) 3@ HeAq A TsHER
e

I 7w G W ?

(A) TAN.TH.

(B) TH.E3L

(C) 9

(D) 31U

20
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ROUGH WORK
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ROUGH WORK
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